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In protein synthesis, translocatloﬁ
. tRNA from P-site to the A-site
c. {RNA from A-site to P-site

2. Name the protein, which is responsib
a. Topoisomerase :
¢. Helicase

3. Semi-conservative DNA xeplicaﬂh:n
a. Drosophila melanogaster
¢ Streptococcus pnewmonae

4. Which of the following reactions

by DNA polymerase 11I? _ y :
a. 5 to 3 exonuclease activity . 3 to 5 exonuclease activity
(s 8‘to5’&nﬂonuc1ea§e ¢ et 3’ end lease activity
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A nucleotide is formed of which of the following units?

a. Nitrogen base and phosphate b. Nitrogen base, sugar and phosphate

c. Nitrogen base and sugar d. Sugar and phosphate

Which of the following facts is true for transcription?

a. The entire molecule of DNA is b. Only selected regions of DNA are
transcribed transcribed

¢. The primary transcripl are active d. All of the above

RNA molecules

The Pribnow box is situated............ bases from the starting, point of transcription.
a. +10 b. -10

GR35 d. -35

During the post transcriptional modification, the 5'- end of in RN A i< capped with:
a. 7 methylguanisine b. 7 methyladenosing

c. 5 methylguanosine d. 5 methyladenosine

The two subunits of 70 s ribosome in prokarvole are:

a. 30Sand40S b. 60S and 40 S

¢. 30Sand50S d. 60Sand 10S
The amino acid is attached to ........... end of L RNA.

a. 5’end b. 3" end

¢ Darm d. Anticodon arm

The codon(s) that terminate(s) protein biosynthesis:

a. UAA b. UAG

c. UGA d. All of them
The nitrogenous base that is never found in the genetic code:
a. Adenine b. Guanine

¢. Thymine d. Cytosine

The intervening nucleotide sequences in m RNA that do not code for proteins are
called:

a. Exons b. Introns

¢. Nonsense codons d. None of the above

Who discovered DNA?

a. Watson & Crick b. Friedrich Miescher

¢. Ronald Ross d. Gregor Johann Mendel

“Active factor is DNA which can cause transformation”-was a conclusion of which
experiment?

a. Avery, MacLeod and McCarty b. Griffith’s Experiment

¢. Hershey and Chase d. None of the above
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[ Answer question no.1 & any four (4) from the rest ]

Explain with illustrations how DNA was evidenced as a genelic
material. What are retroviruses?

Eaplain in detail the structure of Watson & Crick DNA model. Explain
the tormation of Polynucleotide chain of DNA.

Whatis Protein synthesis? Explain the mechanism of protein synthesis
m prokarvotes with proper illustration.

VWhy DNA replication is called semidiscontinuous replication?
Describe with illustration, the mechanism of replication in Telomeric
site of DNA.

What is codon and anti codon? Discuss briefly with examples the
phenomenon of Wobble hy pothesis. Explain the property of
redundancy in genetic code.

What do you mean by semiconservative model of DNA replication?
Explain the Meselson-Stahl experiment to demonstrate
semiconservative model of DNA replication. Mention the use of CsCl
salts in density gradient centrifugation?

What is a promoter sequence? Describe how RNA Polymerase takes
part in transcription process with illustrations.

How is hnRNA different from the matured RNA? What is the
significance of post transcriptional modification of mRNA in
prokaryotes?
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